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Where he was reminiscing innocently — 330 55% 1190NR

OVERVIEW

The X3 initially reported' that between *27 and X '3; one was 12K 5" 12 7991
n19722 and the other was 77197 1nx 9"y X 7%y, To identify who did what, the X3
cited a Xn>>72 in which °27 ruled (in opposition to 11"7) that a father is believed to
say X7 3791 777 °13, indicating that it was °27 who was 72370% 1ak 9"y 12 nbvn. There
we must conclude that it was "7 who was 7199 11X 9"y iR 79vn. The X3 asked
but 1"1 disagrees with °27, and answers that in the case of "2 he was 1 %% 0.
mooIn explains the identification process of the X 3 regarding 11" °27.

nooIn asks:
- X1 9917 )9 N3 9NN ON)

And if you will say; but how do you now that it is this way; that >37 was 9"y 12 75vn
71795 1R and 1" was 70199 1PhR 9"y 1R 7R -
= 991 29 NYDNA AN 29 Y 12 NYYN NN 229 XY

Perhaps 11''2 was 711707 192K 5"y 12 5yn by w2 5% moon -
- PYDN XY 199N NN 39 HY NN DYYN 539

And 27 was %% PR 2"y n"R oY» even without 1790%, but rather because it was
17°2.

Mo0IN answers:
- *awyn *a9 HYY 397 XYM XN NPT INNIAT NNPINUNIT PNHXY 13929 99IN)

And the >'"1 said, that presumably 29 acted in the very case which the Xn»92
stated was the ruling of 521 —

mooIn offers an alternate explanation:
- NYDN XD2IPAN D25 PN 9 DY NN NHYN 2297 TYAN INT MW

And in addition it is impossible that "2 was 7% nR 2"» nR 79y, even

Pa .
* The Xn>™2 merely stated a ruling of *27 in a hypothetical situation; it never stated that >21 was actually 5"y 12 75¥n
71797 1N, and there is also no known story regarding n'"9. Since we now know there are two ways of being 159n
someone; either through the n1nX1 of 17°2 (the view of »21), or through ¥ n *5% moon (according to everyone), perhaps
the opposite is true. See “Thinking it over’.
? This would mean that *27 allowed this person to collect M wy» from the farmers (and they would discharge their
obligation by giving him the "w¥n) based on the testimony of the brother, since it is Mwyn 1973877 17°2.
* We know that one of them was 12X 5"y 12 79¥», we know that >3 ruled that the father is believed 7m0 113 2877,
we know of no ruling regarding either 7% or o°nX, therefore given the choice we assume that »11 acted in
accordance with his explicit ruling in the ¥n>12 regarding 1°a8 5"¥ 12 7% and therefore 1" was YR 8"V X 7929,
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without 10 °95 107 (but on the basis of 172 alone) -

20519 AN PYUNRT TUPN MNRT INNY TWPN 195IRNY 1192 Y 7V PN DNNT
For there (regarding 7mY) it is not possible to say that it is 1792 to feed him
wyn, according to the one who maintains that YW= 9wy» is permitted to non-
2o,

SUMMARY
It is presumable that °27 was aR 9"y 1%vn, since that was his ruling, and (in
addition) there is no 17°2 regarding ">.

THINKING IT OVER

mooin asks that perhaps it was 27 who was %% IR 9"y nX 79y, etc.” What
difference is there whether it was 27 or 11 who was 1ax 9"v j2 7%vn, etc. The
point seems to be that *27 was 19V even because of 17°2 alone, and "1 was 79vn
only because of 10 *5% i°on, but there seems to be no relevance if it was j2 or nx!’

> Since Twyn is 212 I then this ‘brother in question’, could always eat 2wy, his brother had no special 17°2. The
issue is whether he can receive Twyn from the farmers (see footnote # 3.); this is not 17°2 of the brother. However by
77N which is 2>r% 770K, the son could not go and eat 770 on his own, it was however 17°2 of the father 19°587177
7m0, therefore once he is permitted to eat the o°71% 770X 7710 (on account of the 17°2 of his father) he is also
believed to collect 7170 from the farmers.
® See footnote # 2.
7" See nnbw 03 ,*"10 and 0°37K NYK.
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